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(1)

55
(E1)
W Z Aoy

IEEE%% equilateral pentagon /

WD BhH

ED> D 73 ® K& = the length of five straight sides /
7’3\ <subject particle> /

%bb\ = equal, same, identical; able, capable /
Z HolFwn

A A = pentagon /

the pentagon whose lengths of five straight sides are equal

(A

LRI, = ago, before previously /

(37 H

tRZ LT W53 H% T = when (X) am seeing the cherry blossoms, when (X) was seeing the

cherry blossoms /
=<K [Fr

M DTt = cherry blossoms /

|& <topic particle> /
FAES

AYIT = really, truly /
TW & holFn

=\ i IERA AT = <plain-style-nonpast-affirmative> of 11U\ 782 IEAAFTT = (X) is an

equilateral pentagon. /
1a <confirmation particle> /
t <quotation particle> /
.=. Sofchb. = |f (X) say, when (X) say (said), after (X) say (said) /
ﬂflu D &L A 2 = <plain-style-nonpast-affirmative> of &I ® &\ A T9 = You don’t know
how to appreciate a tasteful thing
ﬁ?\ﬁé = appearance, air, taste, elegance, entertainment, hospitality
RIED 3% % = tasteful, tasty, exhibiting good taste /

& <quotation particle> /
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bnh = <p|a|n style-past-affirmative> of Fhnxd (be laughed (by a person)) which is the
passive-verb of ib\iﬁ“ g1 (laugh, smile) /
Z &M B ofes = <plain-style-nonpast-affirmative> of Z &A% % D £ U fc = had ever done ~ //

When | said, ‘The shape of a cherry blossom is really a beautiful equilateral pentagon’ when |
was seeing the cherry blossoms, | had ever laughed by my friends before. They said that | didn’t
know how to appreciate a tasteful thing.

EEZNC = surely, certainly, definitely, confidently /

(378

D £V 5 = petals of cherry blossoms /

i/

|& <topic particle> /

Vo &> w3 %

Wik B85 L = subtle hue (tinge, tint) /
P =etc/

et

2. =shape/

ZU7T, =and/

)

%'O = aroma, fragrance, scent, smell /

DDKT\ = |n addition to ~ N2 No.63/
ﬁﬂZ'OKD< = ﬁﬂl'O %9 g1 =fall, scatter & /

>2K<

£ U & =beauty /
HY <subject particle>
% %, = <plain-style-nonpast-affirmative> of % D £ g1 =there is ~, have ~ //

Surely, petals of cherry blossoms have a subtle hue, shape, sent and, in addition, they have a
beauty of falling. &

—++

1t
%Z <direct-object particle>
60

[2)
BT = <p|ain-style-nonpast-affirmative> of B TX Y g2 = love, admire /
F W <

e v %EI = haiku poetry (17-syllable poem usually in 3 lines of 5, 7 and 5 syllables), 31

syllable poem, etc /
|& <topic particle> /

%E%Eé'f) 73U\ = unlimited, infinite, limitless, boundless, unrestricted /
H. =but,/
Z D 7&H = inside that /
|C <existence particle> /
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BT & holFny &
MERAF, &S SZE = the word which is ‘equilateral pentagon’

|H

Y <subject particle> / '

f%ibhfc ZElFRESL LEF% 72U\ = <plain-style-nonpast-affirmative> of {1/ Z & &
£Z5< —EH HD XHEA =Perhaps (X) has never been used before

*[ta-form] Z &Y D £ I = have ever done ~ before /

T&H > D, =is more formal than 725 5 which is the plain-style of TU & 5 = 1. Probably .....
2. ... , right? //

There are the countless number of WAKA and HAIKU who admire and love flowers (cherry
blossoms), but among there poems, probably the word which is ‘an equilateral pentagon’ will
have never been used before.

MY <
3% # = scientist /
<S5
8 = characteristic (of), peculiar (to) /

N SH>
c
<+

J

D <possession particle> /

9%;%"2‘5% = sense of beauty, aesthetic sense /

— R EEFE DEEH = the sense of beauty which is peculiar to a scientist
\d <topic particle> /

}SEDLZ’% = elegance, taste, refinement, dignity, distinction /

&

|& <topic particle> /

M7 D = considerably, fairly, quite, very /

E;!ib%jftﬂ: H D 78 DI = <plain-style-nonpast-affirmative> of 2E7& £ D 7% DTY = (X) is the
thing which is different (from ~)

28 = heterogeneous /

i <quotation particle> /

&> fco = <plain-style-past-affirmative> of &0 £ 39 g1 (attain enlightenment, perceive,

understand, discern)

| perceived that the sense of beauty which is peculiar to a scientist was quite different from
‘elegant, tasteful, refined’.

M ht <

RBlZ [CH VT =in the field of science N2 No.3/
FALD WH W

ANE LIS\ = except for essence (true nature, reality)
%Z <direct-object particle> /

E ER
YIDE TS 1=l = in order to truncate (cut down, omit, discard, slay, cast away) /
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|& <topic particle>
D& T %9 g2 = truncate, cut down, omit, discard, slay, cast away

RV ich

KPB7% = adventurous, bold, daring /
Eﬁb%éjﬁﬁ = abstraction /
and /
,M b, = idealization
¥ <subject particle> /

02&5

WNETH B, =<plain-style-nonpast-affirmative> of HMET&H D X = (X) is necessary //

Adventurous abstraction and idealization are necessary in order to discard the things except for
essence in the field of science.

ELB LS 2N

S5 DIUS D =< ZTA D FE O HH5S =from many characteristics (features) of
petals of cherry blossoms /

W & holFny hics
MERAF ;1 £WS 2 =the shape which is ‘an equilateral pentagon’
fZ1F =only/

%E <d|rect -object particle> /
EY N .':I:'.@' & = to take out (pick out), taking out (picking out)
*BYD U F£9 g1 =take out, pick out

To take only the shape which is ‘an equilateral pentagon’ out from many characteristics
(features) of petals of cherry blossoms.

N =this/
¥ <subject particle> /
Ew>5L&S H
MR 1t TH 3, = <plain-style-nonpast-affirmative> of Rt TdH D £ = (X) is abstraction. /

This is abstraction.

%B%‘—Hc_ = |n fact actually; virtually, practically, in practice, currently, presently /

=27 BT = in mathematical meaning /

MAEA BN T Aol

SE2 7% IEA AT = perfect true equilateral pentagon /

%Z <direct-object particle> /

(07.9)

"9 = <plain-style-nonpast-affirmative> of IR U &9 g1 = denote, show, point out, indicate /
(E7

EU05S = petal /
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— the petal which shows a perfect equilateral pentagon in mathematical meaning

|& <topic particle> /

E‘tﬁ L\ = few, little, not many, some /

125 5 = <plain-style-nonpast-affirmative> of TU & 3 =1 Probably ....., 2...... , right? /
h¥ =but, /

% Z =that place, there /

i/

|& <topic particle> /

HED = (not) so, (not) really, (not) much /

P55V, =<plain-style-nonpast-negative> of 72100 £ g1 (fuss over, be particular
about, be concerned about) //

Probably there will not be many petals which show a perfect equilateral pentagon in
mathematical meaning in fact, but | don’t stick to that point.

Z1 =this

HY <subject particle> /

DIECR:N

B8k TdH B, = <plain-style-nonpast-affirmative> of IBFE1LTH D £9 = (X) is idealization. /

This is realization.

Lt AN

BH4A5 = nature, the natural world, realm of nature /

C <particle which shows the place where the action takes place.>/
W Dol fcWwL £ 5L

ERAFE O K5 & R % = symmetry (exact correspondence between parts on either side of

a central line) like an equilateral pentagon /

%Z <direct-object particle> /

%_23“ eI = in order to donate (show, point out, indicate)

* 7R U 9 g1 =denote, show, point out, indicate /

\d <topic particle>/

;jé:b@“ = necessarily, certainly, without fail, positively, invariably /

gﬁ%ﬁﬁa’?} ZAN EEG = systematic (methodical; regular, occurring at fixed intervals; routine) law

(rule) /
¥ <subject particle> /

39 TH S, =<plain-style-nonpast-affirmative> of (39" T3 D £J that is more formal than (3
9 TY =1am sure that ~, be supposed to ~, should ~ //
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In order to show the symmetry such as an equilateral pentagon in the natural world, there
should be the systematic rule without fail.

(378 F B W

€ @ /B E. =inthe case of flowers /
VALY

miE (C & > T =depending on a kind, according to a kind N2 No.13D /
% «;“ petal /

D <possession particle> /

%%Tﬁbﬁj@ = symmetry of rotation (revolution, turning) /

hH¥ <subject particle> /

t¥?i U
iB{EF T = by means of genes /

%’i%\éh’c W3 Z & =the fact that (X) is decided /

|& <topic particle> /

éﬁg 2 LVAR LY = <plain-style-nonpast-affirmative> of fE:&L\d5 D £+ A = | have no doubt that ~, it
is certain that ~ N2 No.103 No.104 /

ms, = because ~/

>2FL = J:% < = nicely, well, okay; successfully; ably, prof|C|entIy = < skillfully, ably,
knowingly, masterly, like an expert, well, cleverly, aptly; deliciously /

D ;%i?ﬁ_jbr = this gene /

% <direct-object particle> /

x SN =if (X) can determine (esp. a culprit or underlying cause) (pin down, make

sure, locate, identify, find out, ascertain) *potential-verb + conditional-form / if (X) is determined
(is pinned down, is made sure, is located, is identified, is found out, is ascertained) *passive-
verb + conditional-form

X EHET g2 =determine (esp. a culprit or underlying cause), pin down, make sure,

locate, identify, find out, ascertain /

?’E D bﬁf = the shape of flowers /

%Z <direct-object particle> /

53%60% = <plain-style-nonpast-affirmative> of ;R X 9™ g2 = decide, rule, resolve, conclude,
make a decision /

%«L’%E’? AN EEG = universal (general, worldwide, comprehensive) law (rule) /

— the universal law which decides the shape of flowers /

75“ <subject particle> /

%’D 75\5 <plain-style-nonpast-affirmative> of 2 Dm0 £ 39 g1 = be discovered, be found/
I L\fd L\, = <plain-style-nonpast-affirmative> of (C \\d D £ A = | have no doubt that

~ itis certain that ~ N2 No.104 /
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If we can identify this gene successfully, it is certain that the universal law which decides the
shape of flowers is discovered.

D K 5 Lc_\ = in this way,

Ew>5L&S

R ﬂﬁ & IE,MK IC & > T = by means of abstraction and realization N2 No.13C /

ULEAITALES

B IR = natural phenomena /

|& <topic particle> /
fchUwh

BfllC = simply /
T Wb
FIETZ = can arrange (can put in order, can dispose) and .....

*masu-form + potential-verb of %‘L\IE L &9 g2 (arrange, put in order, dispose)
*Both te-form and masu-form can be used to join sentences, but masu-form one is more formal.
%}%E’? AN EEG = universal (general, worldwide, comprehensive) law (rule) /

%Z <direct-object particle> /
%’J |7 % = <plain-style-nonpast-affirmative> of & D17 & 9 g2 = find out, discover, gain
knowledge; locate, sight /
TEC% |7 I 8%, <plain-style-nonpast-affirmative> of B} (C 7% D £9, = (X) become a help (aid,

rescue, assistance) //

We can dispose natural phenomenons simply by abstraction and realization in this way, and it
will help us to find the universal law. //

? N <L:§g
BH e 7
MA L Le - LceE . . . . .
ﬂ—?—% EWS Ti%J = the job which is ‘a scientist’
5>

SI3BAICVWL P

l:}:l INEBETEIC = (published) by Chuu Ou Kou Ron Shin Shan //

149
%% = author, writer /
\& <topic particle> /
bﬁyj{ = oneself /
75\ <subject particle> /
bhﬁ_ = <pla|n style-past-affirmative> of 51011 £ 9 (be laughed, be smiled) which is the
passive-verb of aeb\iﬁ' g1 (laugh, smile) /
%i = cause, factor; origin, source

— the cause which the speaker was laughed
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E Z IT %% = <plain-style-nonpast-affirmative> of & Z (C &% D £ H = where is (X)?, where

does (X) exist? /

& <quotation particle> /
AN

EZT W3h, =<plain-style-nonpast-affirmative> of X T WX 3 H\, =Is (X) considering?,
Is (X) thinking over? //

According the author, what is the cause that he was laughed?

]

AL Lew

=& = scientist /

5 UL < 72\LN = be not like ~, be unlike ~, be not characteristic of ~ /
BHOE

# D B = zestful, tasteful, elegant

*# = meaning, gist, main point; knowledge, something that is known; taste, sense; atmosphere,
tone or mood of a place or thing /

%iﬁ% by means of the expression /

;I;t&):é cherry blossoms /

%Z <direct-object particle> /

%(Vb fc = <plain-style-past-affirmative> of 4:%675 X9 g2 (praise, admire, speak well) /

Th
M= = spot, mark, point, dot; number of items identifier; score identifier; particular point identifier //

the point where he praised cherry blossoms with the elegant (tasteful) expression which is not

characteristic of a scientist to use &-

the point where he praised cherry blossoms with the elegant (tasteful) expression which is

unlike a scientist to use &-

Qzﬁg = oneself /

A <subject particle> /

é&b D ;*:L & = beauty of cherry blossoms /

%Z <direct-object particle> /

fﬁﬁé?‘é T LWEh o fo = <plain-style-past-negative> of IEf# T= T LVEX T (can understand
now, can comprehend, can realize, can grasp the meaning of) *potential-verb + te-fom \WWE 3
*I2f# U £9 = understand, comprehend, realize, grasp the meaning of /

Th
M= = spot, mark, point, dot; number of items identifier; score identifier; particular point identifier /

the point where he couldn’t comprehend the beauty of cherry blossoms
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é\<‘5 %
# @ 1t = cherry blossoms /

\& <topic particle> /

bﬁzﬁg = oneself

¥ <subject particle>

%’\“7‘: = <plain-style-past-affirmative> of ﬁj’\“i 9 g2 (describe, say, state, express, mention) /
bj%g = shape, form, figure, type /

— the shape which the speaker described

%Z <direct-object particle> /

LT Wigh > fc = <plain-style-past-negative> of LT LWEF (be doing now) /

*Z(th ~ (D) %= LT WXT = (X) have the shape of ~

-
/= = spot, mark, point, dot; number of items identifier; score identifier; particular point identifier //

the point where cherry blossoms didn’t have the shape as he described

4
=<5 52K
#MD3E L X = beauty of cherry blossoms /

%Z <direct-object particle> /

MR LeTE LTh

B ER 12 RA NS = from a scientist-like point of view &2 /
MR LeTE

*RlFEM = scientist-like /

V&S

IR U /= = <plain-style-past-affirmative> of &IZ L £9 g3 (express) /
Th
& = spot, mark, point, dot; number of items identifier; score identifier; particular point identifier //

the point where he expresses the beauty of cherry blossoms from a scientist-like point of view.
Q

P21

(150

Z Z = here, this place /

C <particle which shows the place where the action takes place.>/

D <possession particle> /
DZ5 M
B & = BB &S & =the thing called ‘realization’ + |& <topic particle> /
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Rh

2T
faIh, = <plain-style-nonpast-affirmative> of {1 ¢34 H\, =whatis (X)? //

What does ‘realization’ mean in this passage?

<5 @3

M DTE = cherry blossoms /

|& <topic particle> /

ENd =any ~, no matter which ~ /
T & holFny

IER AR TH B = <plain-style-nonpast-affirmative> of EABFTH D £9 = (X) is an

equilateral pentagon /
& <quotation particle> /

H7:9 Z & =to consider as, to regard, considering as, regarding
*#7% UE T g1 = consider as, regard //

to regard any cherry blossom as an equilateral pentagon

<5 (3R

M ®DTE = cherry blossoms /

IC <existence particle> /

\d <topic particle>/

:fté?%?é"é = <plain-style-nonpast-affirmative> of & U £ 9" g3 = have ~ in common
t’f%sf;f = feature, characteristic /

Y <subject particle> /

3 % = <plain-style-nonpast-affirmative> of % D £ 9 g1 = have, there is /

& <quotation particle> /

#7329 Z & =to consider as, to regard, considering as, regarding

*#7% U E 9 g1 = consider as, regard //

to consider that cherry blossoms have common characteristics

=<5 @3

M DTE = cherry blossoms /
|C <existence particle> /
|& <topic particle> /
10/13



352

%&%E’?@ %L & = mathematical beauty

Y <subject particle> /

3% % = <plain-style-nonpast-affirmative> of % D £ 9 g1 = have, there is /
& <quotation particle> /

%f%_% Z & =to consider, to think over, considering, thinking over
*#& X £9 g1 = consider, think over //

to consider that there is a mathematical beauty in a cheery blossom

=<5 3R

M DTE = cherry blossoms /
|& <topic particle> /

137

ED & £D H =than any other flower /

%ﬂ%%t: %L\ = be close to an equilateral pentagon /

& <quotation particle> /

%%%) Z & =to consider, to think over, considering, thinking over

*%& Z %9 g1 = consider, think over //

to consider that a cherry blossom is closer to an equilateral pentagon than any other flower

[ 151
o UL» 75\/1;751
BED EZ T &% &. =According to the author’s thinking, N2 No.14
(=223 & W
1D F/HE. =inthe case of a flower,
5p5L&5 M

¥ 1t & ffféﬁ\g IC & T = by (means of) abstraction and realization N2 No.13C

% = what/

Y <subject particle> /

Eﬂf% &% = <plain-style-nonpast-affirmative> of Hiff S 11X 9 = be expected *passive-verb
of #i#F U £ 9 g3 = expect, hope /

M. <question particle> //

According the author’s thinking, in the case of a flower, what will be expected by abstraction and
realization?
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]
?’E = flower /

|C <existence particle> /

|& <topic particle> /

%lfi? = brand, kind; description /

75? <direct-object particle> /

Mzt = <plain-style-past-affirmative> of # X £ 9" g2 (exceed, cross over, cross, pass through,
pass over (out of))

gﬁj‘?ﬁj,%t = common feature, commonality, sharing of common features; shared characteristic) /
— the common feature which cross over a kind

Y <subject particle> /

3 Z & =the fact that there is ~, the fact that (X) have ~

Y <subject particle> /

ZEﬁHSj'E)?ﬁ)\ IC 7&% Z & =that (X) become obvious (evident, clear, plain), becoming obvious

(evident, clear, plain)
*Here ‘koto’ is use to make a noun phrase (to change a verb to a noun).
* [the stem of i-adjective] < 7& D ¥, [the stem of na-adjective / noun] IC & D £ I = become

~, get ~, turn ~ //

(It is expected) that the fact that there are the common features which cross over a kind in
flowers becomes clear. &

Q,.;\Ui; IC = in the natural world

ﬂ;b\’c L% = <plain-style-nonpast-affirmative> of BXL\T LWE 3 = be blooming now
“IXEE I g1 = bloom /

%O) ;EZL & = beauty of flowers /

— the beauty of flowers which are blooming in the natural world

[c/

%}%@ = catholicity, universality /

Y <subject particle> /

%L\fé‘ 3N Z &=that (X)is found out, that (X) is discovered

*Here ‘koto’ is use to make a noun phrase (to change a verb to a noun).
*BUWE S5 = <plain-style-nonpast-affirmative> of B UL\ 2 F 9 = be found out, be

discovered *passive-verb of R\ 2 U £ 9 g1 =find out, discover //
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(It is expected) that the universality is discovered in the beauty of flowers which are blooming in
the natural world.

(E73 AN =1
1D 2 =a shape of a flower /

H¥ <subject particle> /

ED K5 IC =in what way, how /

53%? % = <plain-style-nonpast-affirmative> of ;R&X D £9 g1 = be decided, be settled

H\ <question particle>

<D 1L:/|:;‘%<ﬂo"% = that structure (construction, arrangement, contrivance, plan, plot, contrivance) /
Y <subject particle> /

%’;’\Eﬁéhé Z & =that (X) is solved

*Here ‘koto’ is use to make a noun phrase (to change a verb to a noun).
*#EEA X 115 = <plain-style-nonpast-affirmative> of f#BA= 11£ 9 = be solved *passive-verb of

f#ZHA L £ 9 g3 = solve, find a solution, find the answer to, explain, resolve //

(It is expected) that how the shape of flowers is decided (that structure) is solved. 8-

ztfok et feWL & 58N

£ D £ O X% = symmetry of the shape of flowers /

Y <subject particle> /

:t:é? £ % H D =the one which is by way of the genes N2 No.13B
Tdh 5 Z & =the fact that (X) is ~

*Td % = <plain-style-nonpast-affirmative> of T D X9 =is, are, am, etc /
Zb; <su bject particle> /

GAERAE N5 Z & =that (X) is proved (is demonstrated, is attested, is certified)

*Here ‘koto’ is use to make a noun phrase (to change a verb to a noun).
*REBHE % = <plain-style-nonpast-affirmative> of SEAA S 11X 9 = be probed *passive-verb of

AEAB L ¥ 9 g3 = prove, demonstrate, attest, certify //

(It is expected) that the fact that the symmetry of the shape of flowers is cause by a gene is
proved.
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